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1. Work out these calculations using your times tables.
6 x 8 T 48 = Gl TP
27 = 3 o S — q x 8 R .
2 marks
2. Count up in steps of 50 from 5. ’
5
................................................................ —
3. Write an addition you could do to check
the answer to this calculation.
393 - 127 = 266
.................................................. i
4. Circle the shapes that have parallel sides.
A et
Draw a cross in the shape that has perpendicular sides.
1 mark

Draw lines to match each clock to the correct time.

04:25 10:35 08:45 02:00
2 marks
Solve these calculations.
69 2 450
+2 6 8 -2 7 4
.................................... —
Pablo has a sunflower in his garden that is 126 cm tall.
The sunflower grows the same amount each week.
After four weeks, the sunflower is 154 cm tall.
How much did the sunflower grow by each week?
------------------- cm
2 marks




